Integral Test and p-Series

Integral Test
If f is Decreasing, Continuous, and Positive (Dogs Cuss in Prison!) for x21 AND a, = J(x),

then z a, and r f(x)dx either BOTH converge or diverge.

n=1

Note 2. The function need only be decreasing for all x > & for some £ >1.

If the series converges to S, then the remainder, R, = |S - S,,| is bounded by

0<R, < ff(x)dx . (Not on AP exam, but on my exam.). This means S € [SH,S" + R,,] .

Example 11:
Determine whether the following series converge or diverge. If they converge, find an interval in which the
sum resides using S,
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‘Example 12: | ' (o NVEMLES
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Approximate the sum of the convergent series 2—4 by using six terms. Include an estimate of the

maximum error for your approximation. = ST(QU I R}l.,fl
. <M CulJl
§um($£@(#,nl rtr;oe)—s [, 02 i ¥zl
| ‘ = . T17 CORVVERGES () - 5.0
M Ts A p-Searss wl P74 So IT e
v i

[ dds =l § =17 B

7



